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(). f(x)=x*-5x 2 4%

®). f(x)=|x] @5

(¢). f(x)=coshx 2 5

d). f(x)=cosx @ 4)

(€. f(x)==x]x"| 2 5)
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(b) %T’

=e™, BIG(1)=2(4 %)
() ERE®), KG(0)=2(445)

(@) #EE(®b), KlimG(k)=? (4 47)

© HF(s)=[ e £ ()de=lim G (k) -G (0), KF(s)=24 5%

. BRIRE 1 (1) E AR (Laplace transform)JEZ 5 F (s) = J: e f(t)de




ﬁﬂ BEBHEAL 100 25 ERALHEAEFNEA
% (FF) % 0 BMBEERA .
AL Moot i a5 1002
# BTERe B2 HA 2K

5. & F(s) =slTa ] f(r) =F (s) =", HipF (s) A F (s) YR I ES##( Inverse Laplace
transform)

@) EH(s)=—. AlA{t)= B (5)=24 )
s=b

® B*”G(s):(s_a)l(s_b)=(sf»i;)*(sfb) Eney b) Ak AR (4 )
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(© EHOMORWM), K (s) RILREE G (5)=24 5)
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. DS /() HBR 27 - f(x)={_1 O<X<T 8t £ (x) 2 M2 SR Fousier serics)

1 -m<x<0

7% 5% +z a,cosnx+b, sinnx) + BAEIT BE{#(Fourier coefficient) &

1 o=
== =012,
a, ”L”f(x)cosnxdx, n=0,1,2,

b, =%fﬂf(x)sinnxdx, n=123,
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